FASTEN TO SPOUT e
W/ITEM 13C1D .

FASTEN TO DOOR
W/ITEM 141D

FASTEN TO SPOUT FASTEN TO DOOR DRILL 5/16°® HOLE THRU
W/ITEM 13¢11)  W/ITEM 14D DOOR & SPOUT

TYP, FASTEN BACK
PLATE & SPOUT TO
SHOE SIDE THRU
COMMON HOLES
W/ITEM 14¢8>

6.64

= 1300 TYP

DOOR DETAIL, TOP SHOE

1/8 SCALE FASTEN INSIDE
SPOUT W/ITEM (12
2 PLCS, FASTEN TO 2 PLCS, FASTEN TO DOOR 13¢4)
DOOR W/ITEM 14¢4) W/ITEM 14¢2, DRILL TWO
218°¢ HOLES IN SPOUT & FASTEN UNDER
FASTEN TO SPOUT FROM CROSS BD'S W ITEN

INSIDE W/ITEM 1(3¢2)

VIEW A
@17 Fee] e 508> o

- E R - .23
SPOUT

7 F6100i25%

/ 15T 730000001 | 2 FANDLE, 514810

/ 14 | FB3453402 |67 SCW, SMS_§8 X 374" PAN HD

/ 73 | 783200011 |23| RVET-POP SD564 .188X.125-.250

{ 12 | F60681263 | 1| END, DISCHARGE SPOUT 768-068
11 | 769681262 | 1 SPGUT, DISCHARGE, 766-068

70 | F61001354 | 2 | BACK FLATE, SIDE_SPOUT 1, BW SHOE

9 | F61001353 | 2 | COVER, SIDE SPOUT fl, BTM SHOE, 586
3.04 4 f— e 8 | F61001214 | 1 DEFLECTOR, SPOUT 1360/1386
: 7_|F6100%267 | 1 SPOUT, DISCHARGE 1360/1386
. 6 | F61001008 | 2 [SUPPORT, DISCHARGE SPOUT_1360/1386
| = \h\ 5 | 66443800 | 2 WASHER, LOCK 5/16 PLT
4 | 66403800 | 1 WASHER, FLAT 5/16" PLT
1 3 | 66383800 | 1 T=NUT, 5/16-18
] 2 | 66083800 |2 NUT, HEX 5/16-18 PLT
\: 1 | 60143860 | 1| BOLT, TAP HX HD 5/16-18 x 6.00
@ — ltern [PART NUMBER]Qty DESCRIPTION
— 463
N N qoom WCAD
| |_CHANGES
{EXCEPT AS
- 16.61) €7.063, 2 PLCS HOTED)
(9461 oEcwAL:
NF)TES: - f FRACTIONAL: ORAING TITLE:
3 0701001085 FOR COMMON DISCHARGE PACKAGE, CONQUEST 585, *a SPUT_DISCHARGE PACKAGE, CONQUEST 566
3: RIGHT HAND DISCHARGE SHOWN. ASSEMBLE SPOUTS F61001207 & F69681262 OPPOSITE FOR LEFT HAND DiSCHARGE. SEE SALES ORDER. ANGLAR: OATE: SIE: | ORAIING NO.: SHeET:
+vz 16/8/01 | D F61001055 1 of t




